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50 —3x6+87+3 =311
D)50 -3 @ 3x6 ® 6+87

@ 87+3 ® 3x6+87

(50 —3) X6+ 87+3=47x 6+ 29 = 282 + 29 = 311
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53-124+24-7=10

O 53-12

@ 53-12+24

@ 24-7
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® (56 -27)+9

@)47 - (8 +3)

® 12+ (7-5)

® (97 -45)-12

@)39 - (4-1)
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D 58 -33+29 @ 354 60— 46
@ 100 - (25 4 50) (@)23—1—(98—66)
® 28-15+9

B

D 58-33+29=25+29=>54

@ 35460 — 46 = 95 — 46 = 49

® 100 — (25 +50) = 100 — 75 = 25
@ 23 + (98 — 66) = 23 + 32 = 55
®28-15+9 =22




50-8%x24+10=+2

@50—8x(2+10)+2 @ (50-8)x2+10+2
® 50— (8x2)+10=+2 @ 50-8x2+(10+2)

® 50— (8x2+10) =2
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@D (50 -8 x 2+ 10) + 2 = (50 — 16 + 10) + 2
=22

@ (50-8)x2+10+2=42x2+5 =89

®50-(8x2)+10+2=234+5=39

@50-8x2+(10+2)=34+5=39

® 50— (8x2+10)+2=>50-26=+2 =37
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1204 = (Tx4) + (504)
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(7x4)+ (504) =28+ (504)
1204 2 Ol
+,-,x,+E 2= go] 7Hd
124+4=16 - 28+ (504) = 16 oA
O°ll 012 357} ¢lrt.
12-4=8—-28+(504) =8 A
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12x4 =48 - 28 + (50 4) = 48 9|4
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118 -5x3+4x3 =13

@O 118-5x(3+4x3)=13
@118-5%(3+4)x3=13
® 118-5x3+ (4x3) =13
@ (118-5)x (3+4)x3 =13

® (118-5)x3+4x3 =13
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kA 5x 3 44 x 3 = 105 7} =] o] oFgtet,
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